MEHRERAERR (MILREFT)
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= Al HES 4

#i[X REFT HAIEERR | eSS 35260 38276 35280 38290
< 1 — Tcm 0.22 0.29 0.25 0.26
gg\jﬂgﬁl‘%) FEEFRBM ZiLE 50cm 0.29 0.29 0.29 0.31
REZE 50cm 0.07 0.07 0.08 0.07
— Tcm 0.20 0.22 0.19 0.18
FRRSER ZiLE 50cm 0.19 0.22 0.22 0.19
FE=E 50cm 0.12 0.11 0.12 0.12
— Tcm 0.27 0.23 0.21 0.19
=xswear | T [ Soen 0.26 0.23 0.23 0.25
FE=E 50cm 0.1 0.11 0.11 0.11
— Tcm 0.15 0.15 0.14 0.15
wEaEss | T [Som 0.16 0.15 0.1 0,15
FE=E 50cm 0.12 0.12 0.11 0.11
ARERER | P g L
. (HZ SRS — cn : ' : '
MmARFIOE FE=E 50cm 0.10 0.11 0.10 0.10
(BBLLERPY) PR Tcm 0.22 0.22 0.22 0.22
BRIBEREM 50cm 0.23 0.24 0.23 0.23
FE=E 50cm 0.10 0.11 0.10 0.10
— Tcm 0.21 0.20 0.20 0.22
EHFZBM ZiLE 50cm 0.22 0.21 0.22 0.21
FE=E 50cm 0.07 0.09 0.08 0.08
— Tcm 0.34 0.37 0.36 0.36
SROHERBR ZiLE 50cm 0.31 0.30 0.31 0.32
HFE=E 50cm 0.09 0.10 0.11 0.10
— Tcm 0.23 0.24 0.24 0.23
KEB T ZiLE 50cm 0.24 0.23 0.23 0.23
FE=E 50cm 0.09 0.09 0.09 0.09
— Tcm 0.26 0.26 0.25 0.24
= AT EREFSE ZiLE 50cm 0.23 0.24 0.22 0.23
FE=E 50cm 0.1 0.11 0.11 0.11
— Tcm 0.21 0.27 0.31 0.33
AHIFEB ZiLE 50cm 0.23 0.29 0.31 0.33
FE=E 50cm 0.07 0.06 0.07 0.07
AHRET FREE Tcm 0.31 0.31 0.30 0.30
HEFRBM 50cm 0.32 0.29 0.31 0.31
FE=E 50cm 0.14 0.15 0.14 0.14
— Tcm 0.41 0.40 0.35 0.39
ZEFeM ZiLE 50cm 0.31 0.32 0.30 0.31
HFE=E 50cm 0.12 0.12 0.11 0.11
— Tcm 0.1 0.11 0.12 0.12
KEMFBAT ZiLE 50cm 0.1 0.11 0.12 0.11
AT HFE=E 50cm 0.08 0.08 0.08 0.08
N FREE Tcm 0.28 0.29 0.29 0.29
BEHFEBF 50cm 0.29 0.29 0.30 0.30
FE=E 50cm 0.09 0.09 0.09 0.09
— Tcm 0.23 0.24 0.23 0.22
LR B T ZiLE 50cm 0.26 0.26 0.26 0.26
FE=E 50cm 0.13 0.13 0.13 0.12
— Tcm 0.19 0.20 0.20 0.24
=2m =amEEF | T [ Soam 0.19 0.19 021 0.21
FE=E 50cm 0.1 0.10 0.10 0.10
— Tcm 0.27 0.28 0.29 0.29
HFOEHE]T HIHREFESM ZILE 50cm 0.31 0.31 0.32 0.31
FE=E 50cm 0.12 0.12 0.13 0.12
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#[X REFT AIEHRR | eSS 35260 38276 35280 35290
— Tcm 0.33 0.34 0.32 0.33
=08 | mauesE | PR [ Som 0.37 0.35 0.33 0.35
FBEE 50cm 0.08 0.08 0.08 0.08
— Tcm 0.08 0.08 0.08 0.08
FAE T HEHR BT ZiLE 50cm 0.08 0.07 0.07 0.08
FBEE 50cm 0.05 0.06 0.06 0.06
— Tcm 0.17 0.19 0.20 0.20
#gH] mEREm | TE S 0.21 0.20 021 0.20
FBEE 50cm 0.07 0.07 0.06 0.07
— Tcm 0.13 0.15 0.15 0.14
HF BT ZiLE 50cm 0.15 0.16 0.15 0.15
- FEE 50cm 0.08 0.08 0.07 0.08
FEATET FREE Tcm 0.17 0.21 0.20 0.19
HRBFEBF 50cm 0.17 0.18 0.19 0.19
FBEE 50cm 0.10 0.10 0.10 0.09
— Tcm 0.19 0.19 0.20 0.21
FREE] mEEEF | T2 [ Soam 0.21 0.21 021 021
FEE 50cm 0.13 0.13 0.13 0.13
— Tcm 0.10 0.09 0.11 0.11
b ERE] mEREF | TE [ Soa 011 0.10 012 011
FEE 50cm 0.06 0.07 0.06 0.07




